
■ 正しい説明になるように、点を線でつなぎましょう。

① ⑦

② ⑧

③ ⑨

④ ⑩

⑤ ⑪

⑥ ⑫

0.71 0.071

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

9.9 990

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

4.41 44.1

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

0.037 0.0037

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

0.1 10

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

4.004 400.4

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

1.229 12.29

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

1 0.1

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

0.8 0.008

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

505.2 50.52

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

402.7 4027

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

37.69 376.9

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると
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